Solve each of these inequalities for x.

1a(x-3)(x-5>0
d 2x+3)(x—-1)<0
g9 2+x)3-x)>0
) S+x)4+5x)=0

2 8 2 —2%—8>50
d) 2x2+3x-520
g9 6—x—-x2>0
D16-x2<0

3 a)x*+3x>10
d) 54 — 11x < 30 — x2
g) 2(x* — 6) > 5x
) 2x*+15x< 8

Exercise 1l

b) (x+4)(x—-3)<0
e) Bx+2)2x—-1)=0
h) 4+3x)(5—-2x)<0
k) (x=3)(x+3)<0

B) X5 2%— 1520
e) 5x*+11x+6<0
h) 24 x—3x%2<0

k) 10x* -3x—-1<0

b) x? +21 < 10x
8) Sx > 3—2x%

h) x> <25
k) 9x% +1 < 6x
b) > 2
x+1
e) -3=20
x—2
T am W
x+3
T
5x +
x—1 x—4
b >
)x—3 x—=2

¢) (x+3)x+1<0
) 3+x)(1-x)<0
DGB+x)(6—x)<0
) x(5—6x)>0

¢) XX +7x+12<0
) X2 —8x+16<0
) 10+23x—5x2>0
D4t —=12% 4950

c) x> +4> 5x

f) x(10x—13)+4<0
i) x+ 1> 6x?

) x*>5x

1
2x—5

3
f)-i-2

<3
2

X —
4—3Jc<2

c)

>0

i)

4—x

) 3+ >0

X

1a) x<3orx>5 b) -4<x<3 ¢) -3<sx<-1 d) ~3<x<l ex<—2orx2d f)x<-3orx>1

19g) -2<x<3 h)yx<-%orx
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b) 2<x<forx>3

) —3<x<} ) -8<x<% k) Nosolution I) x<Oorx:S5

D x<-3orx>6 jJx<-Sorx>-4

) 1<x<2 jx<torx>3 KWx<-lorx>—3 NPx<-2o0rx>0

k) -3<x<3 )0<x<$

a) x<-2o0rx>4 b) -3<x<5 ¢) 4<x<-3 dx<-Jorx>1 e) -§<x<-1 f)x=4 g -3<x<2
h) x<—%orx>1 i) ~2 <x<5 jJx<-d4orx>4 K ~+<x<4 DxeRx#2 3a)x<-Sorx>2

b) 3<x<7 ¢ x<lorx>4 d3<x<8 e x<-3orx>3 1)i<x<$ gx<—-Jorx>4 h) -5<x<5
4a)x<3orx=5 b) -l<x<3 e)x<forxz$
€) x<jorx>$ d x<—-jorx>-1 e 2<x<] f)x<torx>) g -L<x<2 h) ~Bax<-3

5a)l<x<l2orx>4



